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Phdn ddp dn cdu tw ludan:

Cau

Noi dung

Piém

Give the correct form of each word in the brackets

1,00

25

destruction

0,25

26

solution

0,25

27

creation

0,25

28

constantly

0,25

Rewrite the following sentences beginning with the given words

1,00

29

Russia is the biggest country in the world

0,25

30

Electronic devices whose radiation is very harmful are bad for your eyes.

0,25

31

He said he wouldn’t have enough money to finish that job

0,25

32

The company will be sued for wage discrimination.

0,25




HUGONG DAN CHAM VA THANG PIEM PHAN BAI VIET THEO CHU PE

1. Form: (0.5pt)
+ Passage
+ Easy to follow
+ Coherent
2. Content: (0.75pt)
CRITERIA +Successful fulfillment of the task. 2.0 pts
3. Language: (0.75pt)

+ Appropriate vocabulary
+ Suitable connectors

+ Correct grammar

+ Punctuating / Spelling
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